



1 _____

:

$$(1+\sin x+\cos x)^2-2(1+\sin x)(1+\cos x) \quad -1$$

$$\sin^6 x+\cos^6 x-2\sin^4 x-\cos^4 x+\sin^2 x \quad -2$$

:2 _____

: IR

$$\sin(7x-\frac{\pi}{5})=\cos(\frac{\pi}{4}-3x) \quad -1$$

$$\sin(x+\frac{\pi}{4}) \cdot \sin 2x = -1 \quad -2$$

3 _____

:

$$I=]-\pi ; \pi [\quad : \quad \cos(\frac{x-\pi}{2}) > \frac{-1}{2} \quad -1$$

$$\text{IR} \quad \tan^2 x + (\sqrt{3}-1) \tan x < -\sqrt{3} \quad -2$$

4 _____

$$-2 \cos^2 x + \sin x + 1 = 0 \quad : \quad [0; 2\pi] \quad (1)$$

$$-2 \sin^2 x + \cos x + 1 = 0 \quad : \quad (2)$$

$$-2 \cos^2 x + \sin x > -1 \quad : \quad [0; 2\pi] \quad (3)$$

5 _____

$$\cos(\frac{2\pi}{x})=\sin(\frac{\pi}{x}) \quad : \quad \text{IR}$$

Z

6 _____

$$\left[\frac{\pi}{6}, \frac{5\pi}{6}\right]$$

$$1 \leq \sqrt{1-\cos(2x)} < 2 \quad (1)$$

$$\sin(\frac{\pi}{8 \sin^2 x}) = \frac{1}{2} \quad (2)$$

7

$$\cos^4(x) = \frac{3}{8} + \frac{1}{2}\cos 2x + \frac{1}{8}\cos(4x) \quad :$$
$$S = \sum_{k=0}^3 \cos^4\left(\frac{2k+1}{8}\pi\right) \quad :$$

8

$$\begin{cases} \sin x \cdot \cos y = \frac{1}{4} \\ \cos x \cdot \sin y = \frac{3}{4} \end{cases} \quad S :$$
$$S. \quad \mathbb{R}^2 \quad \begin{cases} \sin(x+y) = 1 \\ \sin(x-y) = -\frac{1}{2} \end{cases} \quad : S' \quad S$$

9

$$\tan 4x + \tan x = 0 \quad : \quad \mathbb{R} \quad (1)$$
$$\frac{\tan x}{\tan 4x} = \frac{\tan 2x}{\tan 2x} \quad (2)$$
$$y^4 - 10y^2 + 5 = 0 \quad : \quad \mathbb{R} \quad (3)$$
$$\{1, 2, 3, 4\} \quad k \quad \cos(k\pi/5) \quad (4)$$

10

$$(1) \quad \cos 2x - (4 + \sqrt{3})\cos x + 1 = -2\sqrt{3} \quad : \quad \mathbb{R}$$
$$(2) \quad \sqrt{3}\cos x + \sin x = 1$$
$$(3) \quad \sin 7x - \sin x = \sin 3x$$

11

$$\frac{\sin 3x}{\sin x} + \frac{\cos 3x}{\cos x} = 2 \quad : \quad [0, \pi]$$

12

$$\sin \frac{\pi}{12} \quad \cos \frac{\pi}{12} = \frac{\sqrt{6} + \sqrt{2}}{2} \quad :$$
$$P(x) = 2 \cos^2(x - \frac{\pi}{12}) - \cos(x - \frac{\pi}{12}) - 1 \quad : \quad \mathbb{R} \quad x \quad (2)$$
$$P(x) = 0 \quad : \quad]0, \pi[\quad -$$
$$.]0, \pi[\quad P(x) \quad -$$

13

$$\frac{1 + \cos 2x + \sin 2x}{1 - \cos 2x + \sin 2x} = \cot ax \quad :$$

Mouzdahir

